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%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The average of 50 numbers was 60. Later it is found that a number 76 is
wrongly written as 67. Find the correct average.

50 IT31T T 3T 60 4TI 91 H g AT 7141 fb U T=AT 76 Pl ITad dildb I 67
forar T o1 Tl 3d J1d HIfSTg|

a) °
p) o1
c) os
d) o

HAS




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

Iftheratioofa:b=1:3,b:c=2:5andc:d=2: 3, then find the value of a :

b:c:d.
gida:bdI3UId=1:3,b:c=2:53Rc:d=2:3g,dda:b:c:ddIHAH
3T iU
10:15:40
a)
b) 9:12: 30
C) 12:30: 45

d) 8:12: 20
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A sum of money three times itself in 40 years at Simple Interest. Find the rate of
interest.

Udh ¢RI JIYRUT TS UR 40 98] H TG BT il AT 8l Sl o | SATSl &R JTd
DIfoTU |

E"l‘

a)
b)
c)
d)

:::I""-

E"l‘

:::I""-
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The compound interest on a certain sum for 2 years at 20% per annum is Rs.
792. Find the simple interest if sum, rate, and time remain the same.

U A AR TR 2 991 D 1T 20% B 91t &R I Ihdls A 792 ¥UT 5| Al
AR S 3R JHY GHME Bl dl GIYRU AT JTd Diford |

a) 0
b) o
C) 0

d) o




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A maximum length of a pencil that can be kept in a rectangular box of
dimensions 8cm x 6 cm x 2 cm, IS

0P URId & 3Mf¥hdH darg ford 8 IHt x 6 YT x 2 JHT Ml & AAdIHR (e
G ST IHdl 6, ©

a) 13 cm
b) 14 cm
C) 126 cm

d) N2 cm

HAS




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In an election, two candidates have participated. 20% of voters did not cast their
votes, 20% are declared as invalid. If the winner got 60% of the valid votes and
won by 23040 votes, then find how many voters are there in the voting list?

U 1d H, <l IMHIGaRT A HIT fen €1 20% Adardrst 3 #der el faar, 20%
D1 A HIfNd DR [T 7| gic fasidr i 94 Tdi b1 60% UId gidl & 3R 98
23040 Tdl I Siidl g, d Ade gt § fbd- adardr g2

a) 30,000
b) 50,000
C) 20.000

d) 00000




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Two taps A and B can fill an empty tank in 7 hours and 6 hours respectively. if
the taps are opened every alternate hour starting with A then in how much time
the tank will be filled?

&l A A 3R B hHT: 7 B¢ 3R 6 €¢ T U @leil ¢l I WR Ahd ¢ | Al Ad A
= BlId gU YD d UPicR ©c & (o8 @id Sild o, dl el [ba- I9g H U=

SITu}?

a) 0urs
b) > hours
C) 0urs

d) > hours
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The difference between the simple interest and compound interest for two years
on Rs. 15000 at a certain rate of interest is Rs. 96. Find the rate of interest.

151 Bl U [f8d G TR 15000 3UT TR 2 IN[ o dehdlg &S] 3R TR TS
BT 3R 96 DUT gl SISl & JTd DIfoIT|

a) °©
b) *
c) ¢

d) s«

HAS
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If Punit purchased goods of Rs. 450 and sold 1/3 of it at a loss of 10%, then
what should be the gain percentage on the remaining items that should be sold

so as to gain 20% on the whole transaction?

gfc G-I o 450 $UU T Y JRIGT 31R 1/3 DI 10% N4 WR o9 f&ar, df Ay
oI-e R 1Y Ufd=rd &1 g1 d1ig U difd U d-a IR 20% dTY 87

a ) %
b) »
c) «

HAS 0
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Find X, 57% % of 63 + 16% % of 72 = 62% % of x2 + 8

63@57%%+?2${16§ﬂfn=xfﬁ62§ % + 8 H x JId DIol |

a)
b)
c)
d)

HAS
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To cover a distance of 60 kilometers, Aamir takes 4 hours more than Salman. If
Aamir doubles his speed, he will take 2 hours less than Salman. Find the speed
of Amir.

60 fabalTiicr Bl gl 08 B H, PR JAHM A 4 6 38D ddl g1 3R SR
31U 71 GIHT PR &dl §, Al 98 JaHM & 2 °¢ DH U A1 IR Bl 71fd F14

a ) km/h
b) km/h
C) km/h

d) kmn




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A motorboat cover 105 Km in 7 hr along the stream. Due to some technical
problem, the time taken to cover the same distance against the stream is three
times the time taken to cover the same distance in downstream. By what
percent did the speed of the boat in still water reduces if the speed of the
stream is 3km/hr?

U HICREIC 3Wag H 105 [hH! Bl gl 7 €< H a8 Bl ¢ | DD ddb-Id| WRdl &
DRI, A &30 bl Uiduarg d a7 H- o feram a1 997 guH ¢l &l 3ydrg o

04 DA H 10 7T 0 BT i A1 5 | Al SR Dl a3 fabei/eer g df R urHt o

19 31 Tif # o ufa=rd &1 wt arrdt 82
a) 3.33%
2%
b) 5.66%
C) )%

d) o




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A, B and C can do 1/4™ of work in 15 days. After working with B and C for 24
days, A left the work. B and C continued to work and took 48 more days to

complete the remaining work. Find in how many days A will complete the whole
work working alone?

A, B 3R C U DM o 1/4 U @l 15 &1 T U1 DR gabd ¢ | B 3R C & 1Y 24
[ TP B DA & d1a, AP BIS adl gl B 3R C HMH SR Wd g 3R AY
HTH GRT B H 48 &1 &1 SfdRad 90 dd g1 A 3fdbel HIH Dd gU HYUl B
Bl fbd- fa-T O 1 B2

a) ’0 days
b) )0 days
C) 0 days

d) )0 days
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Find the total number of factors of '900".

'900" o TUIFRAUS| B el TAT JTd DIfoIY |

a)
b) -
C) 8

d)

HAS
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A student covers 25% of the distance to school on cycle, 20% of the distance on
a bike, and rest in a rickshaw. While coming back he gets a lift from his father
whose vehicle speed was 36 kmph and they reached home in 20 minutes.
Calculate the distance covered by the boy in the rickshaw.

Udh ST Algfdd I Ihd I gol Dl 25%, dI5D  20% DI a3l 3R Y a3l Rl
g Bl o | 199 S1d U 394 39 Udr 3 [o19e ot foHat arg @ 11id 36

fop it ufc ger dt 3R 9 20 [FHT § @R Ugd U] RaRl d dsd gRI 09 DI 715 a3l B

O] B | )
q) 200m
b) 200m
C) 500 m

d) 300 m




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person travels at the speed of 12 kmph, 18 kmph and 36 kmph on an
equilateral triangular plane. Find the average speed of the journey.

Ush Afad (bl JHag HYSTHR HaH WR 12 fbul ufd e, 18 fawl ufd ger sk
36 fhdl Ufq Her ot 1fd I g3 HIaT | AiET i 3d i 1 DI |

a) ) fodT ufd geT

b) ) T Al ufd der

~ O

C) t foo AT ufd ger

d) 3 foet ufay ger

HAS
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If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many
days will 1 man, 1 woman and 1 boy together take to finish the same work?

gfc 2 4oy 11, 6 AigdIU 1 4 dSd 88 feAl T U By URI DR Hhd 6, dl 34 DRI
@l 1 9oV, 1 Higdl 3R 1 dsdl [HAHR fba- fa=i § URI R Jdd 572

a) 7
b) e
C) 5

d) .

HAS
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After allowing a discount of 12.5% shopkeeper makes a profit of 25% on a bag.
At what percent higher than the cost price did he mark the bag? (correct to
nearest integer)

Uh d¥d IR 12.5% Pl 9 &4 D dIc U GhIHaR 25% dIH HHII g1 I a& @l
3{fhd ged, hd ged Y fba- uld=ra siieis FeiRd fabar 7ar ure (Redead gunia

GEZRS)
a ) D.—";ﬂ
b) %
c) %

d) «
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A certain sum amount to Rs. 20720 in four years and Rs. 24080 in six years at a
certain rate of simple interest. The sum (in Rs.) is:

U (A fA AROT <A D T 3T G 1 aR auf H 20720 2. 3R I avl A
24080 %. Bl SIdl o | dg A (3. H) HT 572

a) 00
b) 000
C) ooo

0:4 5.




